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Note : rour choices A, B, C, D to each question are given. Which cholce is correct, fill that circle In front of that question number on the
Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

Which type of Blood Vessels surround the Alveoli : : wamzrﬁ:ﬂ.(f C}’ JCI 56114_&! 174y
(A) Caplllanes /);.’.‘.r (B) Arterxoles /{/zl (C) Veins 7'.‘.: (D) Artencs //JT L
The average lifetime of donated Kldney is Grz / besl d/ ;:/ 2::.{.1:* @

(A) 5-10 Years (B) 10-15 Years (C) 1520 Years (D) 15-22 Years

In eye, Rods and Cones are present in s wlsmnr XLyt f @

(A) Choroid 44 (B) Sclera 12£  (C) Retina b2, (D) Blind Spot 4471

Hyalme Cartilage is found in : /QQ): & blll malss S il @
(A) Epiglottis v :{Lél (B) Pinna l’r, (C) Trachea Y (@ﬁervertebral Discs u‘a .U/,u Y

Which one is male reproductlve part of ﬂower : % Dl : c.uf > d,u’,’/ (J/ il (5)
() Caylx X (B) Corolla 1S (© Anc@e@ £kt (D) Gynoecium (=% (¢

Which of the following reproduces by Budding @v : gt‘f Jiha JZLJJL..QH:Jf i (©

(A) Yeast & (B) Bacteria g@@) Planarian /% (D) Amocba W

N
\ : q.umf ;.rtgww{._ﬁmu:fwm{wg; €
The branch of Biology which deals with the study of Inheritance, is called :

(A) Physiology /L7 (B) Histology J.##7 (C) Anatomy St (D) Genetics Jé-‘-""

Cytosine forms pair with : : {.Jt; B #L @
(A) Adenine 64 (B) Thymine ¢20¢  (C) Uracil Juy (D) Guanine 21"

‘Which one of the following is an Ectoparasite * : q..Uf 221 ﬁ}g LS| @D

(A) Ascaris ' / I (B) Leech ..f_? (C) Tapeworm (st (D) Entamoeba Ll

The primary source of Energy for all Ecosystems is : : q.,g;iéli&l(&}lg’_ L~ ,ﬁra 10)
(A) Sun ur  (B) Plants <y (C) Water d (D) Blectricity Jf

In Genetic Engineering Plasmids areusedas ___ : s BEnJe AR, ¥4 I (1)
(A) Endonuclease ¥¥si  (B) Vector 2, (O Ligase Z0v (D) Donar /s

ﬁich i et q_‘f/,” ;:J? i
(A) Paracetamol 21 (B) Tetracycline w‘-"w Y5

(C) Cephalosporin sy & (D) Diazepam (415
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Note :itis compulsory to attempt (5 -- 5) parts each from Q.No.2 , Q.No.3 and Q.No.4 and Attempt any (02) questions from

Part Il. Write same Question No. and its Part No. as given in the Question Paper.

30 = 2x15 | Make diagram where necessary. oS Puisn oz (Part-1) Jé‘lw

Bw(p,.lr—lél

_é/. /’ J", 5. PN J‘;ﬁ!ﬂlyf IRV u;.dz:aull JJ@}/. 2 Lgl‘

Write down the function of Ciliated and Glandular Cells on inner lining of Trachea.

How Respiratory Centre in brain controls the rate of breathing? ?+r/ Y.L 4:_()/1511}/ J A a A sz it

What is the role of “Allergens” in Asthma disease? ?‘gzbf_ A=Y 5194 L s
Why transpiration does not occur at night? st ud S Ifu?-fl;»" 2Ll
Define “Osmosis”. -é Ty IR
What is the difference between Nervous and Chemical coordination? ?q..J/.qu-‘-' L-,:u,,ﬂgf\ ﬂ _,f Jg‘-'-r s Jss
Differentiate between Nerve and Ganglion. &y ¥ 3 J}Ju%,! 37
Why Eyes of Cat shine in the night? ‘-'u!G[i ux.'/ v .:J/u:."( TU/ &

Differentiate between Moveable and Immoveable Joints. ..2’:_:/, FO SR i sl S oS 7
?wz./(b’c_fu:cf‘%."fwu’? &L b2
How Biceps and Triceps work in flexion and extension at elbow joint? {3 &

265

How Binary Fission occurs in Planaria? % P ?c‘-(}nb?ud:u” GAWE Lot

7
What is the effect of temperature on Seed Germination? W Tc".b‘!}l _l;fb’zh /:; 4‘,-;’551 J 8
Differentiate between the Gene and Allele. @ (R - Fshets
QQ 2ot . s 5 . ‘4
O{ L FOP S i ,/fw.'.;m.'u—gurn
enotype and Heterozygous Genotype.

Write down the difference between Hom/o
oy et st
hybrid Cross. eSS s \Irl Jhr

N L sind S e LSl S8

What are Decomposers? Write the names of two principal Decomposers.

Define Law of Independent Assoﬁ%

Give an example of Mendel’s

Make a simple food chain upto fifth Trophic level. Lol L1 F U ..tfl)é&
What is meant by Denitrification? P /yfc_ifg SFuS
Define Deforestation. -é&éj yd J ﬁ%. pi]
Write four uses of Formic Acid in Biotechnology. -u:‘,ﬂ e[ v S AL L L
What does GMO stands for? e i¥¥ GMO
‘Write names of two Narcotics obtained from Opium. .u."ﬁ rbé:u‘f Sk wnl S p sl

| Define Vaccine. _ -é_éj j"J u:’f;
18=2x9

(Part-1l) Fed4a>

(4) Write anote on two Ways of Dialysis. _uf.’ﬂ LA LUR oL A

(5) Define Arthritis and describe its three types. N ug"lﬁlgf & JinZE s S y i

(4) Write the role of Adrenal Gland in Human. L2 F s SCE St

(5) Write anote on Binary Fission in Bacteria. Also draw diagram. Lt -54/’ .‘.«:74;7) YA /;’».C

(4) AU NS 1 2 19 Lot st
Describe the Major achievements of Genetic Engineering in Medicine and Agriculture.

(5) Write a note on Sedatives and Narcotics. -u.‘.‘ﬁ LIkl st de

(i) 2 U,

® 370

(iii)
(iv)
v)
(vi)

(vii)

(viii)

() a-u»

(W) 51y
(w)
(@) 6AUr
(&)
(&) 740y

(@)
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Note : rour choices A, B, C, D to each question are given. Which choice Is correct, fill that circle in front of that question number on the
Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question,

The number of Carcinogens in Tobacco Smoke is : : ‘a:uﬂJ R K ALOLAZ 120,
(A) More than 40 #1)_40 (B) More than 50 450 ¢ )
(C) More than 60 #1ic-60 - (D) Morethan 70 4170

The major cause of Kidney Stoneis : - | : ‘4.33620’ A el @
(A) Deficiency of Vitamin A (§ J<_te/"ts (B) Excessive intake of Vitamin B (LS J/"ts
(C) Excessive intake of Vitamin D J;.L.JJ W'ty (D) Deficiency of Vitamin E ‘f S es

It Controls Thinking, Intelligence and Emotions : : q_t'f s A whipnleA3S ry (3)
(A) Cerebrum ¢z (B) Cerebellum Hf‘-g (C) Thalamus /4% (D) Pons A
The number of bones in Pectoral Girdle is : = ’“\?/@miﬂ J ULaL JSI du’g @
A 2 ®B 4 © 6 (DO 38 A AQ

Method of Asexual Reproduction in Hydra is : <@ N{%/\ : ‘[—-'5’.) (7] (fw oG]

(C) Binary Fission ¢ U~} Budding %

(A) Parthenogenesis ﬁ‘f-'r,:” v %@nﬂaﬁm o Y.
o

o - -
Root develops from___ ofthe Seed 0‘&@ \Q : {.‘jg e LEZ (6

(A) Radical 4, (B) Plumule (2%~ (C) Epicotyl J¥(§ (D) Hypocotyl J¥74

@V t Eotes S IETRE RIS 0SS Adl @
A person having no antigen in the blood will have Blood Group :

A A ® B (© AB @ o0

A cross in which one character is studied is called : : q:.b'lk’/ &(m?é..lg&f;’(&/(wrp' Skl AU ‘f’ Al @

(A) Monohybrid Cross JIS A [y (B) Test Cross 1/~

(C) Dihybrid Cross U1./3,#4013 (D) Back Cross 1./
Itis an example of Secondary Consumer : : ‘adl?.{kf /{‘/'( G2, (9

(A) Fox $»¢ (B) Lion /2 (C) Leopard ¢ (D) Owl

Formation of Nitrites and Nitrates from Ammonia is called : : .;_gwf B Lt e (10)
(A) Assimilation W ! (B) Denitrification u&,:é‘.'. }"'tdf

(C) Nitrification u"-:é gFp (D) Ammonification gﬁ-‘e‘ »1

Itcuts Genes fromDNA ___ : t e PR e t-ef-Gy| (11)

(A) Ligase /.4,' GU (B) Endonuclease /:‘z,')lgf © Urgmgggwﬂ b’u{ (D) Lipase /’,,'z;JU

Diazepam is a drug : eyl (12)
(A) Analgesics u‘é'd""f (B) Antibiotics ¥ #1*  (C) Sedatives %4k (D) Vaccines /./f:
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Note : itis compulsory to attempt (5 - 5) parts each from Q.No.2 » Q.No.3 and Q.No.4 and Attempt any (02) questions from

Part Il. Write same Question No. and its Part No. as given in the Question Paper.

30 = 2x15 | Make diagram where necessary. LS P o (Part-1) Jilaa>
What are the effects of Nicotine on human? ?wl_nafl}'f_lr(/'uulﬁwf:{ N 27U
Why Passive Smoking is dangerous? ?q..JMUKt}"u::( Ly (i)
Write the functions of Pleural Membrane. B AN A (i)
Write any two adaptations found in Xerophytes. ..i/ f" iilaa »df dbd_lptjtui’ Vad b (V)
How our skin works as Homeostatic Organ? ?r‘;.df rb’b} Jf é:‘fﬂ Lyt ileSia (V)
What are Axons and Dendrites? Sl U1kl 515K (vi)
What are the effects of Damaged Hippocampus? St WA L 7 i sy (Vi)
twpalud "SSP L S (Vi) |

Why response of Sympathetic Nervous System is called “Fight or Flight”?

Define Hinge Joints and give an example. -;{:Jl‘xf(@ L A J" 128
Name the Chest Bone and how many pairs it consists of ? "L(}m}‘/ O\Z,m,;! (¢ Kuslt
Write two advantages of Vegetative Propagation in Plants. {b& @) L3 /"u" / 9 Uny
Differentiate between Sporophyte and Gametophyte Generation. / uﬁw‘- AL br;"-f;l&bmr
Write the names of four Nitrogenous Bases of DNA. %S .u.‘.’d rl:ﬁ'/_‘-' Faft s
What is meant by Homozygous Genotype? @ Tl /L/c.-(’h?! Vv ;?Ur‘n
Define Mendel’s Law of Segregation. ()\Q LS 8K LGl L b
Write two major processes of Organic Evo] 4\ Ay A w0
Differentiate between Biotic and Ah&eig ponents of Ecosystem. ..u_‘/ UQJ)J'IZ 16y betust By L Lzl
Why Food Chains are very complex* ng!aﬂu::ﬁgy:»{- 339
Why Afforestation is an effective mean to control Air Pollution? ?w.g.fiJ? KLU &Jfémuﬁﬁ:,lﬁe’é.
What do you know about Industrial Nitrogen Fixation? 9w:’_@y’.rfﬁh" ANV « PR TR TR . 3
What is Lactic Acid Fermentation? ?q.,l/ optadne 8 Bl SACY
Write down two advantages of using Fermenter. -515;’ Ll S )
What are Antibiotics? Give two examples. -q:uﬁ’lﬂ'»?waﬂ;fu’f 2 Ld’:’-l
What are B-Lymphocytes? tu ULl -B
18=2x9 (Part-11) pgadas

(4) How Kidneys Form Urine in our body? ?u!Z.l‘f.v%qu:)‘ 9 f) «Ja
(5) Write anote on Cartilage and its types. 9% d«i/'rl,'ﬁf sl et S
(4) ?q_alﬂfdﬁ:‘?uu[ a2 s Fug Flel§ /?.’/,JL'QJJUILM J sy

Why are Neurons Classified into Sensory, Interneurons and Motorneurons based on their functions?

(5) Describe the Process of Oogenesis. - A ugdlf'l L g 99
(4) .u:‘.’d/u/ Kwutz.t«.ﬁffdﬂa.m?q_g&lb?f&

What is Biotechnology? Write its role in betterment of our environment.
(5) Describe Principle Usage of important Medicinal Drugs. -u_’/ c}l_f.d{.';'ld;’l (.:«Lulu% (c' /
SR (¥ S—
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Note : Four possible choices A,B,C,D to each question are glven, Which choice Is correct, fill that circle infront of that question
number, Use marker or pento fill the circles. Cutting or filling two or more circles will result In zero mark In that question.

ety 2L s £ U e s P Pkt 140

The Respiratory Centre is sensitive to the concentration of ---—- Gas in the blood : (1)

(a) co, STk (B) NH, . g1 (O O, FT D) N, o

Cactus is a common example of : q_d&rb.,g J!J?’ )
(A) Halophytes 47 (B) Xerophytes sz (C) Mesophytes & w0 (D) Hydrophytes Wad (P 1

The Unit of Nervous System is called : P & 3}1{ dei g ("’u:,,' 3)
(A) Gene ¥ (B) Nephron ¥ (C)Neuron T (D) Enzyme (”ly‘.l

Mature Bone Cells are called : Jt 2w K ogs 8(. 4)
( @;Vl

(A) Osteoclast T (B) Osteoblast erbs>T (C) Chondrocytes ub’ (D) Osteocytes %1

The process of Multiple Fission is found in : O@ﬁ}v: ¢-blell Jf ¥ b ) sl (5)
(A) Amoeba __ e el (B) Paramecium M@ Planaria (& Lipisly (D) Yeast % Gouy
@@'\z/@ G091 i) 1y S 9 _sea kS sl 1| (6)
In Bryophyllum Vegetative Propa ) done by
(A) Stem € (B) Leaves” % (C) Seeds Ji* (D) Spores uyr

3 : |
Mendel Selected whic n for his experiments : Y ¥ g;gufﬁ,ﬁg(, /,’e,m,‘)j.g @ |
(A) Rosa Indica 4y (B) Pisum Tubersum fxﬁ(’@ 7

(C) Pisum Sativum r;é."(jl‘ (D) Solanum Nigirum r/gf-'-'r

In Artificial Selection, the Bred Animals are called : S ¢ zu Jegy) ‘1&)-‘ Vsl (8)
(A) Varieties ):f"l{: (B) Cultivars J/bu&/ (C) Breeders J.iz (D) Breeds Jix

Abiotic Component of an Ecosystem is : : Do i gpeT T sy o ¥ f" % 9)
(AyWater (3} (B) Algae &Lt (C) Rose o (D) Frog S

An example of Perfect Biogeochemical Cycle is : : {-—da‘l{f‘#ﬂ,ﬁf g..pﬁ,r Ll (10)
(A) Nitrogen Cycle JAtt (B) Carbon Cycle Sk

(C) Water Cycle S (D) Oxygen Cycle K L-cjf"ff

Ethanol is used in the production of : : q.t'(_oyfdb*""lufl.b: ' Jr de) | (11)
(A) Plastic Bt (B) Soap (£l (C) Vinegar  J (D) Rubber %

ot U S G UK SBL pasan| (12)

Infections against which Antibiotics are not effective are called

(A) Amoebic _Sual (B) Fungal & (C)Bacterial f 2% (D) Viral  Jb
--------- & — 7~
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Note : It is compulsory to attempt (5--5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
qgestions from Part II, Write same Questions Number and its Part No. as given in the question paper.

I 30 =2 XIsl Make Diagram where necessary. .u:’bx(ﬂ}and/s/"ugz (Partl) Jilo

s

What is meant by Inspiration? Selplf < Hl @) 240
4 ;j’ G2 U Skl ot Srseat (ii)
Differentiate between Acute Bronchitis and Chronic Bronchitis.
What are Vocal Cards ? Write their function. -’49%6’ Koty )5_/51);; (iii)
-’q{{j ‘}:..'i.._&%l&;l nd LLu S C.l:d:d!; Un U"(G){J' {iv)

Write two adaptations in Xerophytes to prevent loss of water.

Define Lithotripsy. s § s )
Name any four components of Coordinated Action. ..ggjf'té W21 e ;(SILJ‘Z\;_)@‘_;\*) T 5 (vi)
Write any two functions of Hypothalamus. -’q{{; (¥ » & £ u/g,ﬂ (vil)
How does Goiter disease occur ? ?9(3;1(,)4]81!:3 J /‘-"lf {viii)
Differentiate between Osteocytes and Chondrocytes. _éu"/ v u’s'll/uﬁb’ 2 U"",l/.o;f'?l (i) 3/',’Ub’
What are Ligaments ? Spdn Y (i)
What is meant by Parthenogenesis ? Q@Yq.:l/g = Uy (i)
Differentiate between Bulbs and Corms. / S -2{&/ o fxf st 5y (iv)
What is meant by Incomplete Dominance ? o @\O ?g.)l/lf e ‘fa';ig};b (v)
Write the Genotype of Blood Group B. /(7% - -é:?q.,/’b'-f g B..;-:/Q& (vi)
State the Law of Independent Assortment. Q(l/%\/\\ﬁ -éug%ﬂ&:g-gdjldﬁﬂ (vii)
ariations, O &Lgﬂm 2l J"V (viii)

Differentiate between Continuous and Disconti
Write the names of Biotic and Abiotic Co pglt ts of Ecosystem. -zg?c L 2B vt s JE LIV () 4y

Write difference between Food Chal ood Web, ..’4({3) U wed? sl 839 ()
okl S~ Sosndee o ik (i)

Differentiate between Ren and Non - Renewable Resources.

If producers are eliminated from Ecosystem, what will happen? Sen i d u_‘;f fjc..dit s iridy A (iv)

What is Human Genome Project ? ¢ e | 2Ll (v)

-g‘}té 35 9 Lt RS jraadt e (V)

Write names of two vectors used in Genetic Engineering.

What is meant by Heroin? Write its bad effects. _e.edu}:‘_jém tel < oy (vii)
How Bacteria gain resistance against Antibiotics? i‘ujl..ﬁ.g;d:wl)a; Sl u’o;:’&g?:'-l ) /:‘r? (vill)
18= 2x9 (Part Il ) fo.e
(4) Describe the Osmoregulatory Function of Kidney. -2?.-’@3 J"’ d}-:.’:g/:ﬁi ¥ s () 5/:‘.Ufr
6 ool § U LS g ol EP kS ()
Define Skeleton and explain the components of Human Skeleton.
(4) Write a note on Autonomic Nervous System. -é{f:‘/} £ (‘/ DAL () 6/1"«)'}"

(5) EO S LS AAC LE O

Explain the process of Binary Fission in Bacteria with the help of Diagram.

(4) Write down four basic steps in Genetic Engineering. -2‘,’;{}:}"/619 s LB G () 74
(5) Describe Mode of Action of Vaccine. -’éuy;a)b’z./}r L sy () '
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Note : Four possible cholces A,B,C,D to each question are given. Which choice Is correct, fill that circle Infront of that question
number, Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question,

¢

(A) Primary Consumer /%/’4 (B) Producer gl
(C) Secondary Consumer /{)f WAE (D) Tertiary Consumer /.;,’}‘r 157

In Normal Circumstances, human breathe per minﬁte : : q_&'u“'(.«gﬂw-guw St /-Uy,r*
(A) 16--20 Times .27 20« 16 (B) 30--40 Times .2/ 40 & 30 1)
(C) 1630 Times .22 30 16 (D) 20---30 Times .2/ 30 & 20
Chest is made up of Chestbone called : e thf £ ?-Jm:( J O 4 le: 2)
(A) Keel S ® Hyoidbone w.gfég (C) Rib Cage % § Ust% (D) Sternum ¢r z
Types of Neuron on the basis of their function are : Y rD’l o e s L2 f( 3) ;
a 5 ® 2 © 3 @D 4
The By - Product of Photosynthesis is \ & .:fﬁ;{é; ¥ /d'a'?':’ @ |
(A) Carbondioxide Gas u‘-f}{-VTJU@Jb’ (B) Oxygen Gas J-{f{ T ©) G‘@g%p) 555 5 (D) Water d& Eq
Which ONE of the following is a Unicellular Fungus g\owq.w@kéx-ng},gmwp 5) i
(A) Yeast wy (B) Sponge f-,,r ((;};%g&%“ 1,43, (D) Coral JoS
A good example of Discontinuous Variations i k q_dlﬁ'tfr’lug g .:J,cad)/ 2 (6)
(A) Height A (B) Weight (;JJ/‘ @gntelligence =3 (D) Blood Group J:'UCUJ
The name of Protein present i \i“atin Material is : t gt ¥ uf;{ ST NV J: HJfJ (7)
(A) Insulin d.‘!r;f <@x\/a moglobin M,{ ¥? (C) Histone (J#* (D) Fibrin (/A
Tulip, Onions and Lilies ::e examples of : 2 o ugl?‘ \’i} 28! Oy ¢ -\NL‘)S" (8)
(A) Rhizomes § il (B) Bulbs ( 5 (C) Tubers st (D) Corms 2o
The Thickness of Biosphere is about : : [';/"’. & dne der AL 9)
A)16KM. 4¥ 16 (B) 20kM.  3%¥ 20(0) 30 KM. 3F 30 (D) s0KM. 3K 40
Digitalis is obtained from : : ﬁ:—t:m)‘ b aded \_”-5 (10)
(A) Fungus & 53 (B) Algae < fl (C) Bacteria & | ,,-,‘-? (D) Foxglove & M
Acrylic Acid is used in the production of : : q_fxdb‘z‘lufi_&fg/ Taigl (1)
(A) Vinegar .f/ (B) Printing bﬁ‘{ (C) Plastic ..-Crrlg (D) Soap ile |
In the base of Food Chain, there is always any : - J:( 24 e o J A9 (12)

ﬁ mmmmmm = YOI Y P
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ety 9 Sl pnoe S/ fa iz PL R (8 -8)Ebnat 470 30 « 2 0mS e ¢l d
,Qk 223 ~g-ng g g drdRy Sen fo7 A 39 (4612 g P

Note : It is compulsory to attempt (5--5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

. 30 = 2%15 IMake Dxagtam where necessary. . bzot (PﬂUJ!/UW (Partl) Jilo

e T M e

Write down symptoms of Pneumonia. -’4‘.'6:4“!: Su? Gy 240
Differentiate Dbetween Bronchi and Bronchioles. ..2:‘.’6 J/ A jz";z » Jﬂu {ii)

Write two bad effects of Smoking, : Eyf wliein £ e i)

Define Lithotripsy. | P G )

Define Xerophytes and give example. <& e i.yj’ Lf u’{":ii:{) (v)

What is meant by Aqueous Humour? S/l « prUEl (vi)

Define Endocrine Glands and Exocrine Glands, ..2.*..:-%1/‘7 d/ JifJ‘/fg (7] )MJ’/GJ»,;I {vii)

What are Meninges? - t Y Suem _sena (Viii)

V.What is the difference between Origin and Insertion? ?c‘..J) l[ '3 u’/'l 2l le (i) 3/:‘.Ulr
What are Fibrous Cartilage ? Y C,J,,J IS pdld (i) i
Define Alternation of Generations. 9{-4’/7 g A /..Jl'u" /T (iii) }
Write name of four parts of Seed. ké;f(}b L~ s L& (v) |
What is the difference between Dominant and Recessive Allele? @0/ [f Ve J‘J Ity sl L3 (v) i
State Mendel's Law of Segregation. {\QQ; 2 ol S S 9T W K Jaw (vi) |
State difference between Breeds and Cultivars. -q{uh a A .umjr sl bz (vii)

What is meant by Organic or Biological Evolutio @}& Sl = dey? L diet (i)

Define Population and Community. Q c‘:J/J i U’r‘/ sl u");'t W a0
What is Global Warming ? ~\© te i B (i)

-’4’6 el 5 £ (Deforestation ) S 1€z (i)
S/l = JLE (iv)

Write two effects of Deforestatio
What is meant by Acid Rai

What is meant by Genetic Engineering ? s"g,ygf e of k?)l...@:f’ v)

Write two uses of Aspergillus. : | S et 0 £ R (vi)
Differentiate’' between Pharmaceutical and Addictive Drugs. ?;.u”)y’u: e lnT (f;rbli (vii)

What are Cephalosporins ? Write their one use. -z-g‘{Jm..g ¥ ol St “U’ Lz (vili)

18= 2x9 (Part Il) (.2

4) Write the Osmoregulatory Function of Kidney. -é.‘!d j dﬁfzfﬂ Py () 54y
(5) Write detail of components of Human Skeleton. -2‘.!?)2‘; v Lo S s ()

(4) Describe two disorders of Eye and their cure. ~ZEl Bl Kt A 2 £ F1 () 640

) & e S 5 S S ()

‘Differentiate between Epigeal and Hypogeal Germination with labelled diagram.

@) B AP U ndnle S i s atn (S () 74Ny
What is Fermenter ? Describe two types of Fermentations carried out in Fermenters.
(5) Describe Mode of Action of Vaccine. -éukJJ)I(L)?‘V L3Sy ()
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Note : Four possible choices A,B,C,D to each question are given, Which cholce is correct , fill that circle in front of that question

number. Use marker or pen to fill the circles. Cutting or fillingtwo or more circles will result in zero mark in that question,

-

e

A thick MuSgylar Structure beneath the Lungs is called : : ;.t‘blq( PRty /p 8)’ .{l é.éu:zﬂ lﬂ:’d’f |
L Epicardium (~\§(§ (D) Pericardium £L63z (C) Peritoneum (-’:176/5- (B) Diaphragm 1/U} (A) 1)
What do some bones produce : Y, { Jb, y’ U,‘.v/:' f: (2) ;
Oxygen =X (D) Blood Cells 2 (C) Hormones 4 (B) Mucous /% (A)
The number of Pairs of C ni;l Nerves in human is : : ‘g(}x e J Uiz L BYBLS R Y 0¥ (3)
31 (D) 26 (© 122 (B 10 (A
Which Plant removes Resins as wakte : . O b 4% 2o b of 4) :
Conifer ,i3,5 (D) Lady Finger /3yt (C) Keekar £ (B) Tomato U (A) r
9
Yeast reproduces by : @/5 ¥ cf‘?%u o usi (5)
Budding % (B) Binary Fissi OQ b sy (A)
Fragmentation $ (D) Mult'i ﬁ By J& © {
The Specific combination of Genes in an Indivi a&(&%%\;d/: : 4.(‘:!1{ u%‘j{ S K s L) L (6) 1
Genotype 5 (D) Homozygous iywXC) Karyotype ;fl‘.:_{[ (B) Phenotype v’-lﬁ.r:' (A
Guanine always pairs with : q.ah 12 25 L (7)
Uracil  Jy (D) Thyxg@ ¥ (O Adenin LéL (B) Cytosine L7l (A)
The Third Whorl of Flower is called : ! e tu l,f A UL (8)
Androecium (-5113,;! (B) GyRoecium r"%b’ (A)
Calyx u'a"/ (D) Corol UsS Q)
The Primary Source of Energy for all Ecosystems is the : P WO G L Sabuuia SV PE L (9)
Moon 4p(D) Sun % (O Star \wt (B) Soil ¢ (A)
Who discovered Penicillin s L g (10)
Joseph Lister ALij2 (B) Alexander Flemming LB (A)
Edward Jenner #isi! (D) Charles Darwin °u‘5w‘/\‘g ©
Which Enzyme is used to Dissolve Blood Clots : : q.b‘ndb""" ("l'j:l Vc}f & o 39S u:/;‘ & Ol 4 (11)
Thyroxin UJLJW (D) Insulin 2 (C) Urokinase ):'Jb’uz (B) Thymosin YW (A)
Which is the Abiotic Component of the Ecosystem : : ‘LC)}( 12 Xf e | ¥ ("/ £ (12)
Oxygen J‘:/T (D) Carnivore /»31( (C) Herbivore m(}ﬁ (B)AProducer gb{ (A)
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Note : It is compllsory to attempt (5~ 5) parts each from QNo.2, Q.No.3 and Q.Nod and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

| 30 =2 XIS! Make Diagram where necessary. ‘.u:fl'f.u’l}eﬂdﬂ/iuw (Partl) J’w B
Why is Larynx called Sound Box? e tlld ud et SA @) 240

What is Pneumonia ? Write its causes. -é;!d =2 J 1S lf g (i)

Write two effects of Smoking on Circulatory System. -zd e n ¢ CUHG £ B i)
) o .

What is Thermoregulation ? Write its importance. -Z:J a;,‘?ld,u’ 1 e t[ cf-*l:gzr/ (iv)

e M w
Hukdy  HSPE (vi)
What are Meninges ? Describe their function. ..’{:L-JL‘ Kl Syt s e 2 yua (Vi)

e P e b ¢ =il (i)
Leteard § pitd JAAT @) 34Uy
. e | w3 (i)

g @ ZEf § L i)
(O s ¢ FASTAT (w)

e %@% A SN s g (V)

Differentiate between Natural Selection and Artificial S 3 ..’{."-:ug&) A St;d’)‘*" 2l 5&;3/,3 (vi)
et U LA (vil)
Zaf § M i

e e YL ) 4y
St L\ HASEHED (i)
Tesle o asd g 20 (i)
kO e U et s (V)
ety I o 5t SIUST (v)

St U a8 (vi) |

Sl U Sy (vil) |

U Ot L bl S J%) (Vi)

What is Hilus?
Differentiate between Sensory Neurons and Motor Neurons. -é{/ J/

What is the relation of Vision with Brain?
Enlist the types of Arthritis.

What is Gout?

Define Budding and give one example.

What is Alternation of Generation ?

What is Monohybrid Cross ?
:Define Translation.

What is meant by Biosphere ?

What are Ecological Pyramids ? §
What is meant by Nitrification ?

Narrate the kinds of Interactions in Ecosystem.
What is meant by Glycolysis ?
What is a Fermenter?

What is meant by Vaccines ?

What are Analgesics Drugs ?

(Part Il ) poe

18=2x9
6) =1+2+2 / ke JES ¥ o (L 5,4 )1y

Describe the Mgchanism of Breathing in Humans in detail.

-e"w’ (B g § koS ()

4 =1+1+1+1

Define Cartildge and write a note on its types.
(5) =4+1 Gy S LBSig e S () 6w
What is/Endocrine System ? Write about Pituatory Gland.
@ =2+ “Zyf eSS 3 L s, sl _mg U (&)
Wrife advantages and disadvantages of Vegetative Propagation in Plants.
¥q Y w g SN Eif S £ () 74y
efine Genetic Engineering and describe its four objectives.

Explain Antibiotic Resistan ool J e2pedi L u“?&&-l )
ﬁ S W W O W S G
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Note : Four possible choices A,B,C,D to each question are given. Which choice is correct, fill that circle in front of that question
number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

Blood ( w# (D) Lungs g Ussee (C) Heart NETN¢:)) idneys g u»/“ A)

AW et Ll R Ll 68 i £y 1
The sybstances used for the treatment , cure, prevention or diagnosis are called (1)
Medicingl Drugs .:«Lul@ (D) Hallucinogens 2453 (C) Sedatives Jj%.i~ (B) Narcotics JHt (A
Which is effective against Brain and Lung Cancer : : & » L /"-'-( ¥ Ussae sl f/b ufcuﬁul 2
Beta Endorphin t'ﬁ”f"c"? (D) Thymosin _* ycu 35 (C) Vaccine u:'f, (B) Insulin o (A)
Conversion of AmNnonia into Nitrates is called : - Gﬂ:{ di 9 u':‘-f"t J ki (3)
Assimilation —4a) _gess) (B) Nitrogen Fixation - ;&S - om g 500 (A)
Nitrification ~ \ _- 4.9 _g586 (D) Denitrification 5558 0,8 595 _s3 (C)
ALl sl 4 J‘O@b & Pt irthy & (“’,E o)
Which form of Nitrogen)\is taken by the producers of> \}osystem 2
Nitrites u“‘i/"t (D) Nitrhtes :,fej"t (@) Ammonia 1§ ) Nitrogen Gas gﬁ-r‘f:}"t (A)
0Ny ptuas” B A J);\}Zc)ﬂzl, » ¢ AAbb 5% § i L1 (5)
How many genetically different\ kinds of etes can be produced by an Individual with
Genotype AAbb &@ 4 (M 3 @ 2 B 1 AW
An Organism's expressed Physi ‘ait is called : @ <& JU{ e Yy n A J Mg LI (6)
Physical Type v’tdb—’ (D) Phenotyp ‘z’%r! (Q) Karyotype .,,’ez/f (B) Genotype b5 (A)
Where the Sperms are produced inside the Testies : 4 ugz’,_ g Yo rs DSt (7) i
Seminiferous Tubules ¥/ AU~ (B) Vas Deferens gf.j!hﬂ: (A) ‘
Collecting Duct .ﬁﬁ (D) Sperm Duct '.‘IS({ (C)
Ferns reproduce by : : uj’L/ cf‘(b,‘u c&.}’ J( 2y L ) (8)
Rhizomes a5y (D) Bulbs  3dy (Q Tubers Jzg (B) Corms e, (A)
Longest Bone in our body is : f d/"ao’l ewd (;L.Jh )
Foot ( usp (D) Leg £t (O Thi ol B) Arm (254 (A)
A Coordination Action has components : Dl 2 £J’ L u‘”-'gﬁﬂf (10)
6 O 5 (@ 4\ B 3
Cacti are example of : HENY 4 J& JL"&Y (11)
Hydrophytes Ve 62247y (B) Xerophytas g u"f’li:_,n' (A
Mesophytes U;"{ bs2 (D) Halophytes J u”’: bk (©
Pneumonia is an Infection of : P& \).&K,n\.{‘ g’ (12)
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Note : It is compulsory to attempt (5--5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

30 = ZXIS‘ Make Diagram where necessary. -u:’t::u/:yﬂduj'ubg (Partl) Jslw

Differentiate between Breathing and Respiration. -é vk J/’ 9 4 ﬁﬁ/ sl f (i ZﬁUlr
What is meant by Voice Box? Seslpl e e dT/i)
Describe the effects of Passive Smoking. -z!uy. el & M (iii)
What is meant by Guttation? ’ fe sy Ve tf (iv)
What is Lithotripsy ? i Q"v'/',o"'.f'J (v)
What are Effectors? gl gf 5! (vi)
What are Saltatory Impulses ? _ 4 &n Siaksa) 6 S (vii)
What is Night Blindness ? Sl ekl § =i (vili)
Differentiate between Movement and Locomotion. -2k J/ " u’f);‘ RSN 3/"_)!,'

Differentiate between Cartilage and Bone. Uk 3/ A ‘5,4:' 7] c,).,i W (i)

N\ w
w7 § auseald (Gl

2

/\“ & 87 Soassnens 5) (V)
O%A\%\v ot/ § redé )
© o ML S i)
e/ § S-S i
__'4’0 Bus 00 £ & i)
teslpl « JA B () 4 ) |
. '
Ay VIR
T U by (i)
What is Eutrophication ? - o Y a8 9,3 5 (iv)
Write the characteristics of Transgedic Animals. -é{/‘. o&:"; J u:u’lgu@"'} (v)
Hormone ? fer¥ Y € g #E (vi)

Define Endospores.

'Define Oogenesis.

:[Define Nucleosomes.

i}State Mendel's Law of Segregation.

' Define Co-dominance.

Write two sources of Variations. ¢

What is meant by Trophic Level? {
A

Define Biomass.

What is Predation ?

What is the function of Thymosi

Define Synthetic Drugs. ..g..,cj/.’. J :«&»lget' (vii)
Write the usage of Antibiogic Drugs. -Zq)bﬁ"l ¥ }Ci.fz' Lé’:f (viii)
18= 2x9 ( Part II)(»,.-"
(5) Describe the funftion of Kidney. -Efi:dko.};’ (4.:; () 540
(4 = 1+3 Defipe Arthritis and describe its Types. -Z;ug rul JJ (7] ’c‘:ru_l!/‘" J u’b" ?/./T ()
(5) Write a det#il note on Spinal Cord. o 9 ..:def 4 5/&}’} (W 64y

P k8 L a8 s sy sl § sy ()
Descri. e the advantages of Vegetative Propagation of Plants.
G) =174 eyl (O QU1 o FEf S e b (D 74

éfine Fermentation and describe its types.

@)

ol § U U £ el (1 (L)

Explain the Principal Usage of important Medicinal Drugs.
_________ ﬁﬁ%ﬁ-----w/-?

@)
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Note : Four possible choices A,B,C,D to each question are given. Which cholce is correct, fill that circle In front of that question
number. Use marker or pento fill the circles, Cutting or filling two or more circles will result in zero mark in that question.

Most of the Gaseous Exchange in a Leaf occurs through : ! ‘Lt')‘lC—UL"( Dol ¥ Ur-'-r F 14Jy
General Surface 5?!: (D) Lenticels )-/‘?'J (C) Cuticle J_G;.‘.( (B) Stomata W+~ (A) (1)

D b YUt e Ll fiot s £ ggani (2)
Which would NOT be present in the Filtrate entering the Bowman's capsule of Nephron :
s R ¥
Urea L,y (D) Blood Cells /% (C) Calcium lons &% (B) Water  Jf (A)

. N PR
q.t‘fdﬁ:ah“’ e S ) 17 vy deiﬁ\so.)l‘,f (3)
Which Component of Coordinated Action receive Informations from Receptor

Response J’l’/_u (D) Effector ikl (C) Coordinator ALY (B) Stimulus ujré’ (A)

The Myelin Sheath is formed by : : Rt s PENCINI R ()
Schwann Cells ¥yi# (D) Dendrites (/lsJz} (C) Axons 155 (B) Node@ﬁanvxer FaL 151339 (A)

How many Vertebrae make Vertebral Column in human : 0: @‘9&» & A PJLTJ_,,.})_, USL...S\ (5)
8 (D) 26 (© 2 pj@&m (A)

Wu‘pf» PEST Ny Jf tfz wyb -/J:‘"GG' (6)

Which process of Asexual Reproduction requi @planta

Tissue Culture f,b/f’“ (D) Clonin‘gg\ (C) Cutting KI5 (B) Grafting LS (A)
N

M bl ALy gl g _gom g gL L lgll$3] (7)
ith Cytosine in DNA

Which Nitrogenous B.ase fo
Uracil Sy (D) “Adenine ¢£¢64 (C) Guanine 1Y (B) Thymine BATRON

Which is unit of Inheritance : g +qu JVI J =t (8)

Gene % (D) Nucleosome rxxﬂé (O Allele Jfl (B) Chromosome rrr:/ (A)

% /;_’7( ikl IS (Coyote ) L:(J)-(—-uj@ — () L7 e~ (A ¥ LF(—-:)A ‘e J433 9)

In the Food Chain < Tree ~»Caterpillar »Robin-yHawk~p»Coyote ~ which is the secondary consumer :
Coyote [ J{’ (D) Hawk it (O Robin  Uss (B) Caterpillar Iy b’d;. (A)

Which of the following is a group of Primary Consumers : : o ¢ /M)’ A1y i/ U < i Jits | (10)
. . b a
Producers Jyisy (D) Herbivores Jm(; (C) Carnivores ¥ (B) Decomposers J/J);{Lﬁ (A)

The first Step in Genetic Engineering is  : bl e b S el S| (1)
i w e e

Insertion of Gene into a Vector Mjuf/‘.r:(ff L % (B) Expression of the Gene of Interest t/(b’ b’cf..?ﬁ-uiv{v a)

Isolation of the Gene of Interest tfwj.‘uﬂ’u:f) (D) Growth of the GMO U,}u/ub‘f_i/u*('f'ﬂ (@)

Sulfonamides affect bacteria in the following way : : u_?é‘_njul}l{ L /_.‘;_5 =3 )J( PRICIACTFII (12)
Inhibit Synthesis of Folic Acid gt § 205 (A)

Inhibit Synthesis of New Cell Wall  ZuSdUn kG (B)

Inhibit Protein Synthesis uf Z_» i S ufJ{ (D) Break the Cell Wall (237 Jis 5 ()
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Note : It is compulsory to attempt (5—5) parts each from Q.No.2, Q.No.3 and Q.No4 and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

30 = 2x15 Make Diagram where necessary. -J_"l'f.d{(}cnduﬁulfz (Partl) J"d"

s S G @) 2y
Define Diaphram and write its function. -e;f‘}wm st s (i)
Write the path of Air from the Nasal Cavity to Alveoli. _égd 20 ¥ i o F Sugdt = L7 (i)
7 et £z £ ek (i)
& (b & umhsbee £ hr o uny (V)
Lo e S eEsf § vt i)
¢ ot i)

Define Alveoli.

Write the names of components of Glomerular Filtrate.
Write the names of Metabolic Wastes in Plants.
Define Stimuli and write its two examples.
Write the function of Midbrain.
Write the function of Epinephrine or Adrenaline. _é‘,"UrK ¥ \j-'-}lzjél W i ol (vill)
ety odvlaay ) 34U
What is Appendicular Skeleton? fe U ol 5yl (i)
L st JrSet (i)

Siisgs & by W)

% el G ¥ iy W)
& KA i f h;;ei:wgljm (vi)

Differentiate between Homozygous Genotype and He%«g Genotype.
@ e e prstHn (vii)

What is meant by Homologous Chromosomes ? 70
What are Alleles? OQ St Y s (vii)
S O/ NI 1t K et £ FE ) 4ty

and Biotic Components of an Ecosystem?

What are Hinge Joints ? Give an example.

Differentiate between Asexual and Sexual Reproduction. _’:{J/
How does Yeast reproduce ?

What is Punnett Square ?

What is the difference between

What is meant by Parasitis }’X\ ?c"_J'/l;( = iz (i)

Write the name of two major Decomposers of Biosphere. -é;‘_’i"t L JJ);;(d} e L 7L (i)
s § U (w)

Define Symbiosis.
What is meant by Genetic Engineering? ‘-'C,-”/‘:( Syl St (V)

e e L)) (vi)
EEed) TG 25 a1 JEG 2 (i)

Differentiate between Bactericidal and Bacteriostatic Antibiotics.

IWrite uses of Ethanol.

What are Narcotics ? Give two examples. —L[Jd:'l“/ niuy T (viii)
18=2x9 (Part Il') fos2
(@) ool dop £ iy 5y stk BSL Lty () 5

Explain the phase of Selective Reabsorption in Urine Formation.
e ALY § S LSt ()
Explain the phenomenon of Antagonism with example.
i(4) Explain Reflex Action. -’é.{wl}; J&‘Q\M(Jl) 6/-,‘Ul,rl
ooy J( - tina, WL LIL UL ()

|
|
)

®)

Explain the process of Seed Germination in Plants,
(4) Write a note on Antibiotic Resistance. -afd_b,,’ £ el ) Ju;Lu-‘fﬂ&:’-l ) 7,40
(5) What is Fermentation ? Explain its types. _éwu;g(ru'ldim ¢ uggfé b yd (L)

rrvrervatat fatammmm— o R
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Note : Four possible choices A,B,C,D to each question are given. Which choice Is correct, fill that circle in front of that question
number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

On the basis of functions, Neurons are of —----— types : : u_«*d"_.ﬂf_b) - AuK L#U&(Kt’.i 1/1‘Ulr
5 M 4 @W 3 B 2 @ (1)
Each human kidney weighs about —---------- z Dot ——— L P unk¥ sS4 (2

120 Gram ¢/ 120 (D) 105 Gram ¢/ 105 (C) 104 Gram ¢/ 104 (B) 100 Gram 1/ 100 (A)

L o sy & K e G LS £ (3)

Tobacco smoke contains at least ---- Carcinogenic Compounds
5000 (D) 4000 (© 350 (B 40 (A
This is not a part of Hind Brain : § @@u&iﬂ’ ¥ f2is 0 (9
Cerebellum kg yoss (D) Cerebrum (2 (© Medula Oblongata (& Y)Y (B) Pons 7| (A)

. % 'O ELL — 2tk e 3y (5)
Adenine of one Nucleotide pairs with —----- -- of op % ucleotide

Uracil Jwlys (D) Guanine 3155 (C) @ et $isflis (B) Thymine i @

External Fertilization occurs in --—------- { “ : q_an S ﬁ/’llf/d}(l (6)

2 (C) Reptiles  3¥\, (B) Amphibians 5 (@A)

Mammals Shasa (D) Bir(d

QIR
Appendicular Skeleton is compow L bones : D R ULh —— R S ) JQLL.;\ (7)

24 (D) 54 (© 8 (B 126 (&)

c‘;wﬁ,}.’; Muﬂ £ /)"G".'/: LZ/)Q;( Nil 1. AADD ~‘r’b?5 d/ Hib ug (8)

How many Genetically different kinds of Gametes of an Individual with Genotype AAbb can be
produced : _ 8 (D) 4 €« 2 ® 1 (A)

The complete map of Human Genome was published in -—— : gft_fcj,uu: -—--.."5’4); € g Lol (9)

2002 () 1990 © 1978 (B) 1970 (A)

Now there are ------ —- Billion people at the risk from Dengue : @ <& oMK 05"5 / uf) u,J‘—- vs B ot (10)

2.5 (P) 5.2 (@) 50 (B) 5.0 (A)

Which one is not a Primary Carnivores : : & u.‘f 4'1»(31( u’/l{ of LY (11)
owl Ji (D) Snake v...?/‘l/ (C) Frog Jix (B) Fox Uy (A)

bl — e 2Ltk Lk 2 ol (12)

The substance used for the treatment of Disease is called --r=-s—- -—
Sedatives %4 (B) Narcotics J‘Zt (A)

Hallucinogens  yua s o ylay (D) Medicinal Drugs I (©




| (2017 -19) 10 (2020 -22) Y™ SSC(Part-1i) _]| 118- Mg{tr | sidu |

Biology ( Subjective ) (£s/) |ssc-a-2021 (Z8) >odedl

a8 : A4S & 145 = 2

ey » e $e Upnwe S favn Z a7 (5-5)Ldvre L 4 0 w13 0 « 20w ie € =l p
B WP G2 cboei s i Az A 0 gz g IS

It is compulsory to attempt (5--5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

Note

L%g =2 XI_g] Make Diagram where necessary. -u,,",_b:(f:ynduﬁulg (Partl) Jslo
N————

What is the function of Mucous present in Nose ? ‘-'q.(ﬂf (4 c/;.’ Jﬁfu-’...ft (i) 2/{U'y’
Write the symptoms of Pneumonia. ..éf,’dc,&lk J b (i)
Differentiate between Bronchi and Bronchioles. -éu,l;.&/' o )zg)‘c 2! Jl{?:/. (iii)
Differentiate between Dew and Guttation. _2.-’-: 97 A S s el (iv)
Differentiate between Glomerulus and Bowman's Capsule. _Z-: Wk O U Jr;—{-).’f;_' 2 ng/{)g (v)
What is Coordinator ? Give its two examples, -’,":df-’l‘/ ) Ju‘l V& y’ AELT (Vi)
Define Reflex Arc. S ST Sy (i)
What is the function of Mid Brain? e uiﬁ gf ¥ 44 (viii)
What is the function of Skeletal System? ?.grf Lf K s ol (i) 3/{Ulr
Differentiate between Compact Bone and Spongy Bone. "‘LJ/qu: R @9 s M ) 91 Sas (i)
Define Endospore. Q(ég‘.é._y/‘.’- J 0k (i)
Differentiate between Male Bee and Worker Bee . @ -2’.:’./0/‘; d’(gj:b’ st u’5 (iv)

| Define a Trait. 0%§\O -2"_"(.._5!/7 J Ses (V)
Why Mendel selected Pea Plant? @% - ?W{,,B’v ¥ eoy & o Jiw (vi)
How Monohybrid Cross differ from Dihybrid Crosé% UM e 0 LS (i
Define Dominant Allele. Give an example. @ EsJedigt JL}:J\ Cia 90 (Vi)
| Write the irﬁportance of Decomposers. 4 O\ -é;fdc,-ﬁ' J )Jix,fdi (i) 4/.“'Ulr

| Differentiate between Food c:@ ood Web. -ég“J/' U esd? al B39 (i)

| Define Mutualism and write amples. '-zg‘b!c» » s i §oyla sua (il])
Write the symptoms of Dengue Fever. -z;,eq:.we J /9706“5 (iv)
Define Genetic Engineering. S ) s (V)
Write the function of Interferons. -é:f([]‘b/ € 2L (vi)
Differentiate between Medicinal Drug and Addictive Drug,. -’Z:/UQJ/ K Iy »TH ‘uu"b (vii)
Differentiate between Antigens and Antibodies. -éut_,gj/u: '{5(:(3"-! 2 /‘3’"4 (viii)
18=2x9 (Part Il) po.
(4) Describe the function of Kidney. -Z:.‘{u.l;x J’ ¥ s/ () 54
(5) Write a note on types of Joints. -2:‘.’6-‘,:’ £ Y e (f";i ()
@) o § Ul Al £ e S )Y gden ot SR U2 BLOUI () 6,4

Explain the locations and furfttions of Hypothalamus and Medulla Oblongata in

human brain.

(5) Write about Cutting and Grafting in Plants. Ef LS s oy ()
@ “Zaobtl Jigerpe el R & |25 () 74y

How Bacteria develop Antibiotic Resistance ? Explain.

1(5) -’é.-:(wt.‘uc_g):‘{;rul ) ‘f’ ! é._y/'" g < diton 59 (__,-)

Define Fermentation and explain its two types in detail.

T L R\ 2/ 0\ S g ]
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Note : Four possible choices A,B,C,D to each question are given. Which choice is correct , fill that circle infront of that question

number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

A Muscular Passage common to both food and air : : q.._f ? L Uit JSup 2 2 )P.._ﬁ 1/.Ulr
Trachea ./ (D) Alveoli Jugd (O Larynx JQ (B) Pharynx sz‘ a) (1)
The core temperature of Human Body is 2 Vb e Zon Qastt § (2 ot (2

#0°c M 3° © 3°c ® 7°c W

Unit of Nervous System is - don & ("'/ vz (3)
Nephron (s i (D) Receptors jiaswy; (O) Newron e (B) Nucleus fi a)
Middle Layer of Eye is called q_JUnr( o Send £11 @)

Rods 3, (D) Cornea Ui,S(C) Sclera  |,uiu ( L (A)
O\\J

<0bdl smpy | )

Bone Marrow is found in

, <

Spongy Bone iy (B tBone oy aagaS (A) !
|
Chondrocytes et 5,418 steocytes S (© |

The Female Reproductive Part of Flower ig' ): : e 2 STk ¥ JA | (6)

OV,
Gynoecium ng( (D) A m  (=ukl (C) Corolla Y,5 (B) Calyx u‘a'f (A)
~N
Locations of Genes on Chr es are known as ! ulekf Al £ sua gl L e/ (7)

Nucleosomes 44

31 (D) Loci JK) (O Genotype  Fis% (B) Allele  Jul) (A)
Alternate forms of a Gene are called | Cgdl L D S el (8)

Characters 2/ (D) Locus U¥ (Q) Traits U/ (B) Alleles Ll (A)
w2l 2 gen SIAL Gl ot Usdsle| (9)

Interrelationship between Organisms and their Environment is called

Morphology G764 (D) Ecology JJE1 (C) Physiology 434 (B) Mycology REANON

Base of a Food Chain is : : f,—-:?-t,( o437 (10)

Plant by (D) Bacteria 28 () Rat {7 (B) Animal ./ (A)

Which one of these is an anti- viral protein : ! & q:/fJ.; ( d?b&" ) U S gl e tul (11)
Interferon @s2%t (D) Insulin i (© Thymosin /¥ (B) Urokinase 7%y (A) |
- 18 I o e (12)

Drug obtained from Minerals is

Aspirin s (B) Morphine A (A
Tincture of lodine 7545 1§ 33,037 (D) Antitoxins S S0 (O

Lo BT S
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Note : It is compulsory to attempt (5-5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

s
N

30 = 2x15 Make Diagram where necessary. -af,"l'f.ffndnf"ulﬂ (Partl) J’L"

What is the function of Mucous present in Nose? fe u‘ﬁ V¥ J;;‘ iz S S {i) 2/:;Jlr
Write the symptoms of Pneumonia. -2‘,’6 b tle J Ly (i)
What was the use of Nicotine in Past? S Jur ¢ A U8 (i)
Write two main causes of Kidney Failure. -u'.f’d =\ 2% » J Lt 15’4..4.))’ (iv)
Define Dialyzer. s s )
Define Coordinator and give one example. & L1 st é._g//J J A 5 1 S (vi)
Define Nerve Impulse. JZEwf S pelaal g (vil)
What is the function of Mid - Brain? T u“'ﬁ V¥ ek (viii)

What are Chondrocytes? @ 0,0V Skt i) 340

Write down causes of Osteoporosis. @Q -u:’l:;_,l/‘ Z u/,/g_éf,f {ii)
o

What is Sporangia? " @ e {7 Loy (i)

What is Gynoecium ? Tell its unit. -u:,GJKfJJI e l[ (ﬁ-,"éb' {iv)

Define Alleles. @%b@ ~-£~-—;‘.’/‘-I e sl (v)
(9)

Define Mendel's Law of Segregation. Z)f o LG T Lk (i)
Define Artificial Selection. @ o sl (i)
Define Genetics. | 2y § paias (viii)
Define Community. -2’:’.:..41/". J L‘f:! (i) 4;‘Ulr
What is Global Warming? fe Y J;JI:J:{ (i)
Write two effects of Acid Rain. -'40.-.:}: n & JAIE (i)
What is meant by Commensalism? ?9.Ji/l! &- r)fu'f (iv)
Write two uses of Formic Acid. -é{fdb”f 0 £ I (v)
What is Beta - endrophin ? Write its use. “E K U1 S U by gy ey (vi)

Which Medicines are used for Lowering Blood Pressure? ‘-’u_?&ndb-?’l.;«_&»lu’ufé’.ﬁ'g/(r s Ay (vii)
Differentiate between Pharmacology and Pharmacy. -’4";{/’ Gt 56 st GG (viii)

(Part Il ) o

(4) Describe the structure of Nephron. Zukest s (LD 541
(5) ol (VS WL ¥ ) § o ()

Define Neuron and describe their types on the basis of their function.
{4) Write a note on Cartilage. -é‘fd 27 g gl (N 6,41
(5) Describe structure of Angiosperm Flower. i ylmsl $ Jsee p gl (o)
@ sl IS 9 RN Wy ORp & PR g ) 7 /4y

Explain two basic types of Carbohydrate Fermentation.

1(5) Describe the resistance of Bacteria against the Antibiotics.- 25 Yt tpe ik £ S J L 2L ()
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Note : It is compuisory to attempt (5-—5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from PartII. Write same Questions Number and its Part No. as given in the question paper.

I 30 = 2x 15] Make Diagram where necessary. -u_’,b:gfyndu/'u(ﬁ (Partl) JJLA"

Write difference between Breathing and Cellular Respiration. -ég‘b/ S u*{ﬂ-z Jk i J'; (i) 2/.Ulr
What are Lenticels ? Write their function. St uV KE i
Write four symptoms of Emphysema. -é_/f. Sl sl J P OR (iii)
What is Guttation Process ? Give one example. St e S ¥ 2t (iv)
Write any two leading causes of Kidney Failure. ..é‘.fd CR Y J/ S wiF & u»f {v)
Write the names of four Lobes of Cerebral Cortex. -2:."';(11. z il L ng’d/_-_/: (vi)
Define Brain Stem. “Eews S Fya v
Define Hormones. Write the names of two Hormones also. -a!%t £ N 9 ,:-:.’: .4//‘7 J sy (viii)
Differentiate between Compact Bone and Spongy Bone. -Z-:J/ 9 u;_'(f’::‘ 1 cJ!,.bg:/ (i) 3/."‘U1r

7 A (i)
What is Calyx? @@ fe tf w‘(/ (iii)
Write any two main causes of Aids. ﬁ@ -gq:v[r:?:di‘ »ds g St (iv)

O%Q? Ewf S A K )

Define Origin and Insertion.

Define Transcription and Translation.

Write definition of Law of Independent Assortme%@ -'4‘7 N—é"f? d’ Mrl&&dildﬁu (vi)
Name any two Nitrogenous Bases of DNA. @ -#{'tﬁ s Ay b g J/ J DNA (vii)
What is Theory of Special Creation? et A Hs (wiii)
What are Carnivores Animals ? Giv gnples. -'J;;u‘.‘z‘/ 0 S e amdK () 44Ny
Define Biomass. 7§ Uy i)
What is Nitrification? e I pteasad g 200 (i)
Write four effects of Deforestation. -J.‘."d =l A,p E th‘f J ) 2 (iv)
Define Biotechnology. s gL ()
Write the function of Restriction Endonucleases Enzyme. ..2.46 (¥ € a3l FICTS URNURS (WX g N 1V |
Define Pharmacology. Zyf S g (i)
Define Antibiotics. L wF § UG (il
(Part I ) o
@ (6 Q76 (ot ey S Easls () 540
Explain how do plants remove extra water from their body?
(5) Write a note on Spinal Cord. -’4‘6.:,17 £ DKJ@ ()
(4) Define Bone and explain its various parts. 2ol SurrsB Lo s i/ J Ja () 64y
(5) Explain conditions necessary for Seed Germination. _ZE.=oUs $ 826 LL phana s J o= ()
(4) Write down advantages of using Fermenter. -Ef.f_/f 29 LISt L fn s (L) 7,4
) Zusre v e a2 ()

What is meant by Drug Addiction ? Explain its associated problems.

>
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Note : Four possible choices A,B,C,D to each question are given. Which choice Is correct , fill that circle in front of that question
number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question,

Aqueous Humour /r_nff; I (D) Iodopsin w*i¢T (C) o ¢ (B) Vitreous Humour sy (A)

Major types of Bronchitis are  : Y, 725 TP ¢ u*’nug 14w
k 4 (D 3 @ 2 @® 1 (A) (1)

Waste Materials that are secreted by Coniferous Trees : urﬁ.'_:m’a_a,u,’u Cans (2 ’
Muclge gulpure (D) Resine 55, (O Litex 0l (®) Gume, 35
Two Glands are situated above Kidneys  : e%ﬁ)ﬁ’ 2t & s (3) 'i
!;ancreas 4% (D) Thyroid sude (© Parathyroid ,‘a’fl/{\{g@(@ Adrenal Judt (A) :!
A Pigment present in Rods  : %{\i}?) etlll &S, s L () ii
i

\% - bot
prevent dislocation of bones K@@ Y4 d‘fr—Ll.'Jc-—gd;'/ Vb 4 SR (5)

Cartilage 315" (D) Ligaments Tendons 74+ (B) Collagen u-q.‘; (A)

N
Ovule develops into : : etk Jist:  (6)
Pollen Sacs % ) Endodermis Wikl (C) Seed gav (B) Frut S (A)
The units of Gynoecium are called : : uggf & u_frtu' f.’-‘Jr 7

Stamens Fieilw (D) Carpels 3L, (O Petals 3y (B) Sepals s (&) |
AL und AN Udnbe L s W7 &tg (8)

The Genotype in which the Gene Pair contains two different Alleles are called

Heterozygous l}-ﬁl}w (D) Homozygous ‘f?um (C) Mutations  2'¢* (B) Locus /7 (A)

& s g L st haty! (9)

The Ratio of Phenotype in Law of Independent Assortment is

9:3:2:2 (D) 9:3:1:3 (@ 9:3:3:1 (B 9:3:1:4 (A) ‘

A Recycling of One Tonne of paper can save

BE Ll bt 41K s f 5K JLii (10)
37 Trees =337 (D) 27 Trees 23527 (C) 17 Trees @i 2 17(B) 7 Trees =3.,7(A)

Human' Insuline Gene was transferred into  : : ;.kf L&P Sl 1 gﬁr’ldw (11)

Yeast u (D) Bacteria 425 (O Virus 7 (B) Algae &1 (a)

Which of these reduce the possibility of Infections on Skin : s et £ 7Kl g el (12)
Antibodies  z5{¢* (B) Disinfectants L S (A)
Antibiotics %y (D) Antiseptics S 1 (C) 4

----- — R fe P fym e
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Note : It is compulsory to attempt (5-5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II, Write same Questions Number and its Part No. as given in the question paper.

I 30 = 2x 15| IMake Diagram where necessary. i w P o (Partl) Jio

——

What is Bronchitis ? Write its symptoms. ..@5/. :—LU&JJI ?4_2( J"’K?u (i) 2/./' id
| What is Pleural Membrane ? Describe its role. -J_/(ul_.: RS ‘-'c._l_f ) /J;z& (i)
:Differentiate between Bronchi and Bronchioles. -@»fuk DL PeSyp Jﬂu (iii)
i.What is meant by Xerophytes? Give example. -’4"'.’4':‘)0?4.;1/9’ e S (iv)
{What is meant by Renal Pelvis? e sl e U )
iDiffcrenﬁate between Endocrine and Exocrine Glands. -u_'/u_l.gJ/‘J J.l'{,( SN 1 pj't/:ial (vi)

Compare the functions of Hormones , Insuline and Glucagon. L € Jl

-

At & o 330 (vill)
Describe Spongy Bone. 0%@ oo S uide 0 30 ‘,
Define Reproduction and give names of two types. @%.4;/,%&(\54 2 sl 4(4/7 S &7 i)
iWhy the Spores of Bacteria are called Endospore? @%g sl Ur(u[ st sy £\ /_’_C (iii)

|

)

|

|

1

1

|

|

i

|

!

S« gy (Vi) i

:Write the functions of Rods and Cones. !
'

=Write Alternation of Generations in Plants. @ -2}{/]’;}5 Uw”J' ¥ )’- )’..qu’:'ﬁ‘f (iv)

 Explain  Translation. e _4:-20.- J u’H} (v) |
Write difference between Continu Discontinuous Variations. -u.‘{v ¥ .;I,EU'V /_' 2l J’V (vi) :
Define Codominance with e -4;_Jl‘»_)y/7 J oaiaa 3 5 ; (vii)

| Describe the role of Skeletel System. -:’:}{-}L‘ M) ¥ ptnes Jkglggﬂﬂ (wiii)

Define Species. -E:.{J_’/.'- S adiaa (i) 44 )y
What are Primary Consumers? Give one example. J.}ﬁd&éfq_fg .7/1)5r d/"{ (ii)
Differentiate between Ectoparasite and Endoparasite. ~4:ﬂbk3)u‘-' LA maie o &F V’tu'—-( I (iii) q
| What is Alcoholic Fermentation? e o Adia b S (iv) |

| -a!?:ﬁd’s/d;y: N £ S ytuioni) CSiiuar (V)

IList name of first four basic steps in Genetic Engineering.

‘Differentiate between Pharmacology and Pharmacy. _4’ f: BOAL 6 2 d:'ﬂ/b' (vi)
Differentiate between Hallucinations and Hallucinogens. -ggud}]ﬁ /-?.r:’:f:«‘ s /‘:J:SY (vii)

What are Sedatives? Sy ikde (vill)

(Part 1l ) e

(4) Describe the structure of Kidney in detail. LhseJZesv § L () sA)y
((5) Describe five components of Coordinated Action in detail, -4@;«):" J »'.’Zléi{ﬁd‘zg‘}fd g ()
@) g SIS et NS S S NS () 6

What is Cartilage ? Also explain the types of Cartilage.

(5) Describe the Development and Structure of Seed, LIk ST ol K og (o)
(4) Explain the Flow of Energy. oo § g £ B () 74w

(5) Describe the achievements of Genetic Engineering. _%g«uwf_pr A ol i () |
' 53:7-:": -": ﬂ'ﬁyﬁﬁ --------- ;
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Note : Four possible choices A,B,C,D to each question are given. Which cholce is correct, fill that circle in front of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

The Larynx is also called this  : D et S e 1/Utf
Bronchioles As509 (D) Alveoli Sugdl (© Voice Box =sJT (B) Trachea K/ (A) (1)

: ;.G*e_u,n.;_z‘z.-,w. { CJ ey , (2)

It is formed due to condensation of water vapours on the plant surface : g
Sebum  pau (D) Dew (} (C) Transpiration ‘:f-'}k'l) (B) Guttation u—‘-—‘! (A) :

UEJU{ uzal'&_zuc_dihk@u‘ i u‘.}lr u (3)

Synapses wsaiilu (D) Mylin Sheath & o (C) Dendrite A28 (B)~Axon oE1(A)

Processes that carry Nerve Impulses away from the Cell Body are called

e

A0 e o bkt urék/),z 4)

: %
Oval Window s2sJss/ (D) Eustacian Tube vfﬁ(@@us LFJ" (B) Stapes  yugabas (A)

It separates Middle Ear from Inner Ear

q.@éq/u’:()z.lhd iz (5)

Uncus (D) Thigh Bone w43 (O)SRull  §%# (B) Stapes  upsiu (A)
N

It is the longest bone in our body

These reproduce by Budding ujL/ Vbl &3 P 3 ,r (6)
% (C) Corals  yl)sS (B) Planaria  \woly (4)

..... 6 5 T A et WO ... 0D Moot -

Ovary changes into this :Q)\) : 4_‘}{!,1‘1_4;‘;‘;1 St (7)

Ovule s (D) Fruit JF (O Flower % (B) Seed gav (A

Tulips % (D) Rhizop

.;.ru;f Lol § e S LS LR TS L {5)

A cross in which only one Trait is studied at atime is called

Single Hybrid Cross /34 }J;’ (B) Monohybrid Cross U e (A)
Solohybrid Cross V1/3# s (D) Dihybrid Cross vWiddis (©

et « umzre W S LN L St K (9)

Part of DNA that contains the instructions for the synthesis of a particular protein is called
Polysome (rdf{ (D) Chromosome rn':f (©) Gene ¥ (B) Locus (7 (A)
Maldives might become Uninhabitable : | P I s el (10)
With in 100 Years (£ Ji- 100 (B) With in 10 Years L 10 (A)

With in 1000 Years 2 Ju 1000 (D) With in 500 Years LJv500 (©)

Aspergillus produces  : © ek Jal a1
Acrylic Acid i1 £1 (D) Glycerol Jr* (C) Ethanol Joe#dl (B) Formic Acid 121004 (A) |

He prompted the idea of Sterile Surgery for the first time : \f;f:'vd?(dZ/.fL;.u,:’!zé;ir_./é.ujl (12)

Joseph Fisher /"Jii.‘ (B) Joseph Trot LIAiR (A)
Joseph Espdin l__t'JS'-.“""—'!‘ 32 (D)  Joseph Lister /"'J)i! ©
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Note : It is compulsory to attempt (5-—5) parts each from Q.No.2, QNo.3 and Q.Nod and attempt any (02)
questions from Part IT. Write same Questions Number and its Part No. as given in the question paper.

130 = 2x15 Make Diagram where necessary. e Psnroe (Partl) Jslo

EWhal is meant by Stomata? Write their function, -Eﬁzf".‘b’ ¥ ?é.)l/tf e e~ (i) 2/.’U'r

| What 16 et by Lenticelet Sestrl e K (i)

‘v Write down about structure of Trachea. -e}g,‘btgjgé_-)v J t_{z‘ (iii) 3
What are Succulent Organs? Give example. -&5Je gLl 581 e S (iv) !
Define Nephron and write name of its two main parts. - -u!{'t[.uﬁa..z 3 St sl é;.’a..g/’ Ju,Jip (v)

EW‘nat is meant by Aqueous Humour? ‘:'g..:l/lfc_ /ﬁJK' (vi)

:What is meant by Tapetum? S‘a;l V = (-ﬁ.ﬁ (vii)

Define Hormone. Also write name of two Hormones. 4( /rt& 2o 1\’) J wrag (viii)
Differentiate between Origin and Insertion. @Aﬁ J/l 2 J =t (i) 3/
' Write the two functions of Ligaments. O.q/uydu'l » u’" & (i)
'Drfferenhate between Sexual and Asexual Reproduction. @g)f\/ﬁ Fhpre o S (i)

qDescribe the method of Grafting. %ﬁ -4@;‘ 3¢ B (iv)

Define Dormancy. @ LIf § iaa )N (v)
&

 State Mendel's Law of Independent Assortm -4‘;;‘ LSS Jir (vi)

o

iWhat is Codominance? w,:;fé Ui JS _,f {vii)
Differentiate between Breeds and % LAl L };!;d’r sl 3k (viil)

Write down two effects of G arming, -égé/' oiin & EnkE i) a4y
;Deﬁne Ectoparasites and give two examples. -4‘3;}-‘-’& 2l u:/..:'}? J gf",lr',&;.[ (i) |
What is meant by Predation? Give example. -g‘:dw.;.;v/y’ = ﬁé{ (i) !
Write down two objectives of Genetic Engineering. -4{/};’1} n L 5t B (V)

-ééjg MK d)lé'f& J@é&:’b) » Jué {v)
State the role of Biotechnology in the field of Food and Agriculture.

i What are Antibiotics? Write its use. e sz U (vi)

Write down two effects of Marijuana. -4;;’ a2 L Wzde (vii)

What is meant by Vaccine? ‘et e ot (il
(Part Il ) roe

i(4) Describe the Osmoregulatory Function of Kidney. -éﬁ)}_« N d}.’[; € st () 540

(5) Describe the types of Feedback Mechanism., -u,fuwux g (el ()

(4) What is Cartilage ? Explain its three types. U2l § pOIEE e S () 641

5) Heola§ur ) » £ 88350 Satary o fraa () ‘l

Write in detail two methods of Artificial Vegetative Propagation.

i4) Describe the effects of Air Pollution. -é_ﬁ‘-c-)k et £ $Tlin () 740

}(5) -g—:—ﬂ'ﬂ J a.&-_\hdu)ldulm ! il/‘(:.u:s: 4 ..:.l_fjr\-}n_;i (u) !

What is Fermenter ? Explain Batch and Continuous Fermentation.

8 T Ll il
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Note : Four possible choices A,B,C,D to each question are given. Which choice is correct , fill that circle in front of that question
number. Use marker or pen to fill the circles, Cutting or filling two or more circles will result In zero mark in that question.

The Sound Production Box is called s : w.;ff .«l-J..th lig T 1/Jlr
Larynx r's J? (D) Alveoli f L;I}ZJ!:' (C) Bronchi f JUM (B) Trachea lf/ (a) (l)
The functional unit of Kidney is called  : S 1 Jtﬂdu-?dLJ )

Nephron @s# (D) Cortex ‘g«b’ (C) Neuron wlg (B) Axon U’;’ (A)

urz_w_,”c.anwf sl 33 ;a,,.mz_@ @)

Processes that carry Nerve Impulses away from the cell body are

Myelin Sheath Vo c/‘t (B) Dendrites wali s ()
Axons #X1 (D) Synapses JIVETCIp Y /_/(Q) L
O Lg%, %%,tm_m,; . @ |

This Lobe contains Sensory Areas that receive impulses from bk@ <& |

Temporal Jusf (D) Occipital d’( (e Paneﬁ? iz (B) Frontal &4 (A)

Some Bones Produce  : : kUL 4 ()
Mucous % (D) Blood Cells )-’»g\ @ygen oFT (B) Hormones s4(A) |

:_.»Lw,w/ﬁ (6)

1/ (C) Androecium (Sl (B) Calyx A @

Male reproductive part of Flower is

Gynoecium (?" J( (D) Cor

In Rabbit, Sperms are produced in : : SE 17 L7 ()
Urethra %4 (B) Scrotum ﬁv; (A) '

Seminiferous Tubules AU ¥~ (D) Seminal Vesicles Ay s (O

ettt P ot /L gt e lefSs (8) i

DNA Wraps around Histone Protein and forms round structures | .
Nucleoside ,vl/.Jx (D) Nucleosome (n:(x (C) Nucleus uf‘z (B) Nucleotide }rtgrx (a)
eyl AL AL U § EHEL (9)

Branch of Biology in which we study about Inheritance

Pharmacology 1,6 (D) Genetics ,uSiisa (C) Ecology S7/¢! (B) Physiology &I (A)

Which Plant is not a Carnivores : : q..uﬁ'} I N by wod | (10)
Venus Flytrap </ (D) Pitcher Plant 2 f  (C) Cactus oIS (B) Sundew g3 (A)
Which one from these is an Antiviral Protein : - %J){(J/’"(?")JG‘WU-{'UU[G—U:L'J’ (11)
Thymosin #¥ (D) Interferon 52! (C) Urokinase ¥4 (B) Insulin u‘Jr‘l (A)
 Joseph Lister introduce an Acid to clean the wounds : : u /il Seduts & Fin (12) é
Hydrochloric Acid A‘dl..fx);dﬁy (B) Carbolic Acid 22104 (A) |

\
; i
l g NltncAud A/'Jt (D) Sulphurxc Acid S (O) B w7~ (o:-—(-l
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Note : It is compulsory to attempt (5-5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part I1. Write same Questions Number and its Part No. as given in the question paper.

. 30 = 2x15 Make Diagram where necessary. -/ ’ho{fnd»/’ul{z J"»"

What do you mean by Kidney Stone? \‘:,'..:l/k(c_ $A L o)/ (i) ZKU'!’
Define Homeostasis and give an example. -@dwﬂ’éfvgf u—en (i)
Differentiate between Renal Corpuscle and Renal Tubule. ?q..J)lfuf J.gfz'dt/ 2! J"vb’\ﬁ/ (i1

Write two bad effects of Smoking. ..u..‘iai)’fgjuﬁjf (iv)

What is Bronchitis? Write its symptoms. . -u.‘datlk(fu’l?q_lf J""Gb/. {(v)

Define Coordinators and give example. ‘ -@Jtﬂuf@{.&}v Jﬁﬁﬂ}( (vi)
Differentiate between Sensory and Motor Neurons. ?q_J/k(uf gty A% (vii)

Write down the functions of Thalamus. S e £ S (i)

State the role of Skeletal System. -z,ﬂfug/b/ € atean JLSCL (i) 3ﬁUlr
Differentiate between Origin and Insertion. -%-J %) 9 J/l ol (ii)

Define Follicles. What is present its inside? \'q.t'lggklﬁ}l ..4/." J,K,,\J_,J (iii)

elite i e FALISEED (v)
What is meant by Translation? e /l/a..‘,ug-\.ml 4 (vi)

Write down the main causes of AIDS. O© -éf:{/f;«}ﬁ:d‘/.{{ Ik (iv)
What is meant by External Fertilization? Give an example. %@J
Differentiate between Monohybrid Cross and Dih @oss -J/ fu/‘u‘: m)i/d;éu s u’l);/d})f (vii)
Qample -@J&._ﬁs‘q.,ygfc,.-,f,:{)‘v (viii)
LIS As ) ey
s and Endoparasites. -u_;u:’co » J u‘*'vw,ja ] (,,I""H&}‘.rl (i)

What is meant by Continuous Variations? Gi

Define Species.

Give two examples of each Ectop

Who produced Dolly and when? sl dss (i)

Which Enzymes are used to Cut and Attach the Genes? ?ujLnJP:”l/'I’j.:la_gyfgL}ﬁ ey 7 (iv)
Wik st VeI Ac ol H7000 (v)

When Human Growth Hormone was prepared and by which Micro - organism?

Which means are used for Medicinal Drugs? TQGQJJ" bc..(‘jbjd(f:.gul (vi)

Write the use of Diamorphine. e A (il

Define Vaccines. ISP § sk il

(924>

P(S) Give Osmoregulatory Function of Kidney. -qfugd”d;é;fmf ¥ st () 540
(4) Explain Reflex Action. Szl ‘f{'u‘p‘z (<)

5) -qfuy&égﬂc Luu'l?q.:l/k’r_.u’-"‘c () 64J1r P

What is meant by Skeleton? Describe the components of Human Skeleton.

(4) Write four types of Natural Vegetative Propagation. ..u_’f_//’(lﬁbyu(m oA Pty 3,38 (&)
}(5) Describe the effects of Water Pollution. -&;g;:ﬁn&&ﬂqf (W 740
(4) Describe two types of Fermenter. w3 /@.I._crl;’" wd & (L)

a 14 B D207 GAG -0 S Bwbh- (o -1- 18§ ‘
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Note : Four possible choices A,B,C,D to each question are given, Which choice is correct, fill that circle in front of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question,

q..JmU*J){mJUWVJMdhLM&JGAl,’,.z)ﬁggb IAUV!

The amount of Carbondioxide in Expired Air is : - (1)
0:04% (D 16% (@ 4% B 2% A

The maintenance of Intérnal Body Temperature is called : : ;..t‘lh{lffﬁ'f ._dl/.-mdu;léf) (2)
Excretion ﬁ/c{l (B) Osmoregulation JJ Y3 (A)
Homeostasis u'"k.:‘.n (D) Thermor;egulation uﬁ-J;[//; ©
The length of Spinal Cord is about  : D edn LI L )
| 2 Inch (D) 40em (O 40nm (B omm (&)
The example of ‘Stizaulas B D eded U @)
Muscles  #~ (D) Cold G (C©) Brain s (B) Ear gm) |
Which Disease can be caused due to deficiency of Estrogen Hormone : : q—uc‘\:’u?/o{gfuww’v/l% (5)

Osteoporosis Uiy (B) Gout @ <36 (A)
Osteoarthritis u"’;ﬂ:t"ﬁ (D) Rheumatox%@ u"l Tty (Q)

Which animal is not able to reproduce in summer months : nu” JFLJG},@J&U}JLL)’(:&JLVU[ (6)
Cat ¢ (D) Rabbit S (@\) 0" (B) Monkey . (A) |

In which process of reproduction Buds are - 9 - ¥ 4 jfg, s 2 Y. ‘/’ 7)
Regener, 28 (B) Fragmentation oduii i (A) :
Binary Fission *§/ (D) Budding £ (O |

L SIL Lre If sy S - o - Ji (8)
In Four O Clock Plants which colour Allele does not present
Black ¢ (D) Pink  Jif (C) White - (B) Red {, (A) ; :

B 2 FaAE s L L u:v&p (9)

How many Hydrogen Bonds are present in between Cytosine and Guanine : |

4 (D) 3 (© 2 B 1 (A

The thickness of Biosphere is about - : ‘c /_7? Jer Jﬂ‘“”‘b -
(KM) 4% 30 (D) (KM) %F 25 (O (KM) %¥ 20 (B) (KM) X¥ 15(A) s ;

The Enzyme used for Joining Gene is : : q..t‘xdb’lé.ﬁazf S oz (i /t (11
Endonuclease Z!J;;‘,j?j (D) Amylase /JU (O Ligase /ﬁﬂ (B) Lipase AJU ()
Reduce the possibilities of Infections on Skin : - dff;télﬁ sG] ¢ ,dv (12)
| Antiseptics unﬁ-,te-n}al (B) Antibiotics U'(Chf =~ (A) 1
g | Disinfectants ol el (D) Analgesics (uSama Juil (O) N R~ ’.o__}l

et 821 00 A Cr— e |
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Note : It is compulsory to attempt (5--5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

30 = 2x15 Make Diagram where necessary. -u."b.o"f wSn UG ol 'I ‘0}} .‘:"

Write four symptoms of Bronchitis. -g:’.:.tuui, J u‘."ﬁu (i) 2/'Jlr
What is meant by Epiglottis? ?4.91/{4:_@}\;@4\ (i)
Differentiate between Guttation and Dew. -g,{fukJM f} J,'M (1)
Differentiate between Renal Cortex and Renal Medulla. -Q’/:-JL;J/U: lenytz 2 ngb’dt/ (iv)
What is meant by Lithotripsy? feitpl )
Where Midbrain lies? Write down its function. -ae‘%s’ ¥ ?q.rngbul{cj_’zl (vi)
What is Nerve? Write name of its three types. ' -q)}/’(térwd‘!m?q_yf 37 (vii)
What is Spinal Cord? Give its length. ' L edUdunse v S (i)

EROALI A ol B Joua i () 3

Differentiate between Origin and Insertion in Skeletal Muscle.

Define Antagonism. -$:.g'}7 g r'/'f Er (i)
4
Describe the process of Reproduction in Hydra and Corals. -;[/c}yd’ ¥ vf?: < S 2 LAy (iii)

-4‘301’&»6 6/ ?q_&xé 4.-}’6::4./ @ﬁ LUy (iv)

How Reproduction of Plants take place by Bulbs? Give any two examples.

St ey Jubow)
.M‘fq'wé-‘.t-w.us (vi)

What is Micropyle? Describe its function.

&b
Enlist the Nitrogenous Bases present in Double Helix of %

Do Eyf § LTIz il

O@ S G . ik (il
B SHLAE () 4

Sura G i)

Te il Ao gt} Sl (i)

Define Mendel's Law of Segregation.

Differentiate between Breeders and Cultivar.

Write Biotic and Abiotic Factors of Ecosysten:
What are the effects of Air Pollution?

What is meant by Genetic Engineeri

For which purposes Microbes are used? Tq.&lgk@b”’&ﬁ/ﬂoﬂ A (iv)
What is the use of Thymosin? S JIY ¢ oAl (v)

¥ sk speiy £ pAs i)

What are the effects of Hallucinogens? Write name of one Hallucinogens. .
S Lugiez # S0/ UAS it (vii)
How Cephalosporins work? For which diseases these are used? .

Which medicines are used for Lowering the Blood Pressure? Tu]&ndb"h:-&»&fufi&i_f( ' Ak (viii)

(2247 ;
i(5) Explain the types of Dialysis. ,.'4-/.90,0’(&5! Gl WS () 5 /’J;,-q‘
(4) Explain the Thyroid and Adrenal Glands. -’q{-»u,J aE St s e (L)
j(S) Explain the components of Human Skeleton. -g{/yu;&),"ﬁc)‘“; LUt (L) 6/:Ul,r
(@) ~UINE S 3 & Sy 5 pititamyy o gruaa (L)
Describe the two methods of Artificial Vegetative Propagation.
(5) Describe the effects of Water Pollution in detail. -qfuyc.yu;.;l}léd:ﬂdf W 74

@ : L PWE it e L gt (L)
Describe the important Industrial Products which made by the help of Fermentation. 50\7 p.(a’_ 3 -\

o R Y Yo~ | L




